Efficiency vs dr

x 0.01
<
,0.009
>
.008
c
$.007
g
9.006
0.005
0.004

0.003
0.002
0.001
0

.[—— DQM_CKFFit_I000e
CKFREFit_1000evt
—— DQM_MKFitREFit_1000evt

1.2

Ratio

e

-|.=—=—_DOM_TESTOLHIT POS

107 1072 10t 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
00.009
=
0.008]
<
£.007
4
2.006
c
$.005
&
9.004
0.003
0.002
0.001

1.0

Ratio

107t
AR(TP, jet)

Efficiency vs pu

5 0.0
o
©.009)
9.008
(]
'®.007]
=
%.006
0.005
0.004
0.003
0.002
0.001

q

Rt 8 1112 O 1 B S O

Ratio

X SRR o I 1 N O
20 30 40 50 60 70 80 90 100
Pileup




	Contents
	Page 1


